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7th August 2025
Mains Manthan 

➢ �MPC holds repo rate at 5.5% maintains 
GDP growth rate at 6.5% (Page No – 13)

➢ �What is the potential of biochar? (Page No 
– 08)

Prelims Saarthi

➢ Trump raises U.S. tariffs to 50%
➢ Microplastics Pollution
➢ Red-eager turtle

1. MPC holds repo rate at 5.5% maintains GDP growth at 6.5%
Why in News?

▪ Repo Rate at 5.5% by MPC

Syllabus

▪ GS Paper 3 – Indian Economy 
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Key Takeaways from the Article

	● Monetary Policy Decision:

	◆ The RBI’s MPC voted to maintain the repo rate at 5.50%, 

indicating a neutral stance on monetary policy.

	◆ The standing deposit facility (SDF) rate remains at 5.25%, 

while the marginal standing facility (MSF) rate and the 

bank rate remain at 5.75%.

	● Economic Growth Projections:

	◆ The RBI has retained the GDP growth forecast for 2025-26 at 6.5% despite global challenges.

	◆ Growth projections for Q1 (6.5%), Q2 (6.7%), Q3 (6.6%), and Q4 (6.3%) have been provided, 

with a projection of 6.6% growth in Q1:2026-27.

	● Impact of Repo rate:
	◆ If repo rate increases, borrowing becomes costlier → Less liquidity → Inflation control.
	◆ If repo rate decreases, borrowing becomes cheaper → More liquidity → Growth support.
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	◆

	● Impact:
	◆ Increase in CRR → Less money to lend → Tight liquidity.
	◆ Decrease in CRR → More money to lend → Boost to credit and economic growth.
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Prelims PYQs (2007) 

Q. Consider the following statements: [2007]
1. The repo rate is the rate at which other banks borrow from the Reserve Bank of India.
2. �A value of 1 for Gini Coefficient in a country implies that there is perfectly equal income for everyone in 

its population.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Prelims PYQs (2017)

Q. Which of the following statements is/are correct regarding the ‘Monetary Policy Committee (MPC)? 
(2017)
1. It decides the RBI’s benchmark interest rates.
2. It is a 12-member body including the Governor of RBI and is reconstituted every year.
3. It functions under the chairmanship of the Union Finance Minister.
Select the correct answer using the code given below:
(a) 1 only
(b) 1 and 2 only
(c) 3 only
(d) 2 and 3 only
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Prelims PYQs (2020) 

Q. If the RBI decides to adopt an expansionist monetary policy, which of the following would it not do 
? [2020]
1. Cut and optimize the Statutory Liquidity Ratio
2. Increase the Marginal Standing Facility Rate
3. Cut the Bank Rate and Repo Rate
Select the correct answer using the code given below :
(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only
(d) 1, 2 and 3

2. What is the potential of biochar?

Why in News?

▪ Biochar production in India

Syllabus

▪ GS Paper 3 – Environment & Ecology
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Key Takeaways from the Article 

	● Biochar’s Role in Carbon Capture and Emission 
Reduction:

	◆ Biochar is made from agricultural residue and municipal 
solid waste, offering a sustainable alternative for waste 
management and carbon capture. 

	◆ India generates over 600 million metric tonnes of 
agricultural waste and over 60 million tonnes of municipal 
waste annually, a significant portion of which is either burned or dumped in landfills, leading to 
emissions.

	● Potential for Large-Scale Biochar Production:
	◆ By using 30% to 50% of surplus waste, India could produce 15-26 million tonnes of biochar, 

which could help remove 0.1 gigatonnes of CO2-equivalent annually.
	◆ Byproducts such as syngas (which could generate 8-13 TWh of power) and bio-oil could offset 

12-19 million tonnes of diesel or kerosene annually, reducing India’s dependence on crude oil 
imports.
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	● Biochar’s Benefits for Soil and Agriculture:
	◆ Biochar can serve as a long-term carbon sink, holding carbon in soil for 100-1,000 years.
	◆ Application in agriculture improves water retention, reduces nitrous oxide emissions, restores 

degraded soils, and enhances soil organic carbon, which helps increase crop yields by 10-
25%.

	● Biochar in the Construction Sector:

	◆ Biochar can be added to concrete (2-
5% by volume) to improve mechanical 
strength, increase heat resistance by 
20%, and capture 115 kg of CO2 per 
cubic metre, turning building materials 
into stable carbon sinks.

	◆ Biochar can help treat untreated 
wastewater in India, which amounts to 
over 70 billion litres daily.

	◆ Biochar has the potential to treat 200-
500 litres of wastewater per kg.
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	● Recommendations for Large-Scale Adoption:
	◆ Sustained support for R&D to optimise biomass 

utilisation, especially regionally, is essential.
	◆ Biochar should be integrated into policy frameworks such as 

crop residue management, bioenergy initiatives, and climate 
strategies under the State Action Plans on Climate Change. 

	◆ Recognising biochar in the Indian carbon market can 
provide financial incentives through carbon credits.

	◆ Deploying biochar production equipment at the village 
level could create 5.2 lakh rural jobs.

Prelims PYQs (2020)

Q. What is the use of biochar in farming? (2020)
1. Biochar can be used as a part of the growing medium in vertical farming.
2. When biochar is a part of the growing medium, it promotes the growth of nitrogen-fixing microorganisms.
3. �When biochar is a part of the growing medium, it enables the growing medium to retain water for a longer time.
Which of the statements given above is/are correct?
(a) 1 and 2 only		  (b) 2 only
(c) 1 and 3 only		  (d) 1, 2 and 3

Prelims PYQs (2023)

Q. ‘Wolbachia method’ is sometimes talked about with reference to which one of the following?
(a) Controlling the viral diseases spread by mosquitoes
(b) Converting crop residues into packing material
(c) Producing biodegradable plastics
(d) Producing biochar from thermochemical conversion

3. Trump raises U.S tariffs to 50%
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4. Microplastic contamination along India Coasts

	● Microplastics are defined as tiny plastic particles ranging in size from 1 micrometre to 5 millimetres.
	● These microplastics can be of two types:

	◆ Primary microplastics: Manufactured at this size.
	◆ Secondary microplastics: Result from the breakdown of larger plastic items.

Prelims PYQs (2024)

Q. Consider the following statements:
Statement-I: Many chewing gums found in the market are a source of environmental pollution.
Statement-II: Many chewing gums contain plastic as gum base. 
Which one of the following is correct in respect of the above statements?
(a) Both Statement-I and Statement-II are correct and Statement-II explains Statement-I
(b) Both Statement-I and Statement-II are correct, but Statement-II does not explain Statement-I
(c) Statement-I is correct, but Statement-II is incorrect
(d) Statement-I is incorrect, but Statement-II is correct

Prelims PYQs (2019)

Q. In India, ‘extended producer responsibility’ was introduced as an important feature in which of 
the following? (2019)
(a) The Bio-medical Waste (Management and Handling) Rules, 1998
(b) The Recycled Plastic (Manufacturing and Usage) Rules, 1999
(c) The e-Waste (Management and Handling) Rules, 2011
(d) The Food Safety and Standard Regulations, 2011

Q. Why is there a great concern about the ‘microbeads’ that are released into the environment? (2019)
(a) They are considered harmful to marine ecosystems.
(b) They are considered to cause skin cancer in children.
(c) They are small enough to be absorbed by crop plants in irrigated fields.
(d) They are often found to be used as food adulterants.

5. Red-eared slider


